K+

Ratio to SLD

10?

10

1071

1072

1073

107

0.5

91 GeV ee */Z (Hadronlc)
E I I I | I I I | I I I | =
: N - K)+N@ - K) _
- . ]
= T E
- = 7]
B g:é:é | 1
—— ‘@: . . —
= B - 5
— é -
| :::: [ | _|

:\\\‘ JR—
- m SLD . 7
| --O-- Herwig++ 2.5.2 default o |
= --3-- Herwig 7.2.1 default 0 3
= ey A
@ ]
Roqn ]
I,\I ]
L TH] _
OJas D
(roN= o |
B CD."@F‘ J’dg Q.
C T e ]
| %0 O |
%50y EI‘E] .60
B : ) i
L Smegt |
1 1 1 | 1 1 1 | 1 1 1 \\ \\\l 1 1 | 1 1
0 0.2 0.4 0.6 0.8

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


